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Plan the experiment.

Conduct the experiment,

Record the data,

Make a conclusion,
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Convert 1.34 kg of iron ore
to grams
Convert 43 km/h to m/s
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Convert 77.4 cm to k/m
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. min
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How many Significant Figures are in each of the following numbers ?

a) 0.0035
b) 1.080

sgll aya gjoc.
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c) 2371

d) 2.97 x 10°



A

Solve the following problems, using the correct number
of significant figures each time.

1) 5.74 + 0.832 + 2.651 = 9.223
|

2 Decimal 3 Decimal 2 Decimal

Places Places Places 9 )
8.765
1 Decimal 3 Decimal l

Place Places

3) 5.02'x 89.665 x 0.10 = 45.0118

3 Significant 5 Significant 2 Significant 1

Figures Figures Figures
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SECTION 2- REVIEW ANSWER KEY

a.2.5¢g
b.4.33 m
c. 3.2 X 10% cm?
d. .22 g/mkL
e. 206.3 cm
f. 1203 km
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Which of the following terms represent the series of ste >s or the
procedure that scientists follow to investigate or solve a problem?
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Which of the following numbers equals 72.5 cm?
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The three arrows represent three measurements for an experiment.

Depending on the picture, which of the following statements is correct
regarding to precision and accuracy?
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Measurements are accurate but not precise
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N =asurements are not precise. Ad not accurate
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Measurements are precise and accurate
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Measurements are precise but not accurate
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What is the basic (S| — unit ) of temperature?
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Fahrenheit



Below is a data table produced by four groups of students who were measuring
the mass of a paper clip which had a known mass of 1.04 g, which group got a
properly accurate and precise measurement of the mass of the paper clip?
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Growp 1 Group 2 I Group 3 Group 4
Trial 1 1dgns [1.03 g 1.13 g I:l.-lu g 0.99 g
Trial 2 2 dlgims | 1-05 g LW 1.41 g 1.00 g
Trial 3 3 dglms | 1.02 g 1.11 g T 152 g 1.19 g
) R R S -, N —

1 Group 1 4200)
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Group 4 "
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What is the number of significant figures in the number 0.00040207
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A worker in steel factory needs to write down the temperature of the steel rods
using the 51 unit, which ocne of the following units he should use?
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According to the given equation below, what relationship exists between the
variables F and v?
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Quadratic relationship
Aamar T 3530

Linear relationship
il asile
Inwerse relationship
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Can't be determined without sclving the equation
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